ok TR} o] Eo| YT Fol HO|LE HUTE LACB = 50°
o o, /x 0] A7)

@® 45° @ 50° ® 55° @ 60° @65°

Zo] glo|Z2 H oW /ABE = /ABC = /x0|1L
(ABE = /BAC = /x(9Z})

AABC 9] Y7+9] 9E2 180° 0| B &

oo 2/x+50°=180°

/x =65°




o3 179l /AOB 9] WHo] g A P oA F= A
# OA, OB o g =49 e ZH7F Q, R Q
olztal o}9S o, QP = RP °|t}. o3 F
22 &2 A2

0 R
@ AQPO = ARPO @ QO =RO
®)qo -0 @ ,0PQ = /OPR
® /QOP = /ROP
Z+g o] F = F HoA T2 A Q= 2 1 749 o]FE
el At
QP = RP °|2& OP = /QOR 9] o]5E A o|c},

a2 & QO # PO ot




HPAHHEY ABCD oA AB = 6cm, AD =
10cm ©]31 AE & /BAD 2] o] 554 uf,
A& EC 9 do|=?

@ 13cm @ 3.5cm @4(:111

@ 5cm ® 6cm

B

(DAE = /AEB (%17}

(BAE = /AEB °©]E 2 AABE = o] 5H 4zt o]t}
AB = BE = 6(cm)

~EC=BC-BE =10-6 = 4(cm)

ol




4. OTABCD 7}ulgRd off, x+y 9] & ot
ofat,

o1 @2 03 @1 ©s

AB = BC
/BAC = /BCA = 60°
mehA] AABC = A4, x=y=1, x+y=2




e

DA, ot

s

@ sz,

©)

o, JA12H

=
=]

A2k, o

BApAE, 2

%‘l%

o, JA2

=
=

® ot




6. o 1A AABCE BA =BC?l o5
A4 oo A D= 1 AC 9ol Y& 4
fhe Tstef e,

1o rE
ik

e

3!

)

rot

v

N

=

1o ra

A

@ 25° @30° ® 35° @ 40° ® 45°

€8 \
(DPB ¢} /CPEE WEZ]|Zto| 2 g2

+CPB = /CPE = 30°

olu, ACPE ]| A /PCE = 60°

T, AABCE BA = BC¢l o] 5H4Zgolm g2

/BAC = 60°

AADE 9] Al YZ+e] ¢2 180°0]B=

Lx+60°+90° = 180°

S lx=30°




7.

O I-olA A 17 A4S AL o, x 9] 2717

® 100° @105° ® 110° @ 115°

® 120°

AZrg o]l Yzt 9F2 180°0| B2
£x =180°— (40° + 35°) = 105°




8. o2 oABCD = HgApHdolct. thzhA AC, BD 9] 282 0 21
g, B F 22 A2 BT 12 ALY
A D
9
B C

@ AOAB ¢} AOAD 9] Hlo]7} 2t}

© AOAB = A0CD
® /BAD = /BCD
® /ABO = /OBC
® OA =0C

® AB=BC

06,006 006066 09066
® 00606 66668

® /ABO = /CDO
® AB =DC




7]
[@€][_7 ]/DbC, AD//BC
5

@, @0l 954 DABCD &= HaAA o]t

@ 71 :AB @ v :BC ® ©: AC
@)= : SAS ® u : /CAD

AABC = ACDA (SSS &%)




10. o8 189 HaPAHEYP ABCD o)A A P =CD 9 &

o @743t BC o] 9349 WA E 1 2 ), BE o

A -4cmo

® 7cem @ 7.5cm @ 8 cm

@ 8.5cm ® 9cm

AADP = AECP (ASA %)
AD = CE = BC = 4(cm)
-.BE = BC + CE = 8(cm)




11.

A 1+= AABC o HHHL FAlola ¥k Fo] 4cm o]t HF 1 E A
W BC o] 3Pt A4 DE & 112 u, oDBCE 9] {o|E L5fo]at.

A 171 4749 YAHelx DE//BC € W], DE = DI + EI =
DB +EC
we2tA DE = 5 + 6 = 11(cm) ©]t}.

w2tA] Atthe]E DBCE 2] Hol: (114 18) ><4><% = 58( cm?)
ojt.




12. o8 I28Le nlEr ABCD 9] ZF Ho] =4 A
S Al&ste] A4 ot MEE B E

) Wol7t 12om? 9 o, b aneD o LA
Holg Fafolat
C
> G cm?
> e 96cm?
2 e 3 E QAstel WE w9 Holt Ag =9 |

olmg
252 ABCD 2] WOl 12 x2x 2 x 2 = 96(cm?) ©]T}.




13. H3PAPHY ABCD o4 BC,CD 9] 3 A
2+ZF P,Q 2F 5}t oABCD = 84cm? ¥
o, AAPQ 9] Hol= drplzE?

@ 29.5¢cm? @ 30cm? @ 30.5cm?

@ 3lcm? @ 31.5cm?

~&B

AAPQ = OABCD - AABP - AAQD - APCQ
1 1 1
=84—Zx84—1x84—§x84

=84-21-21-105
= 31.5 (cm?)




14. & O9go)A AB = AC ©]22 CD = CE °|t}. /EDC = 68° & of,
(EFG 9] 2715 Fstofe}

G

/C = 180° — 68° x 2 = 44°
/B = /0 =44°

(EFG = /B + (FDB
=44° 4+ 112°

= 156°




15. & 28l AC//DECIA /B = 90°, AB = 3em, BC = CF —
4cm € W, DABCD &] Ho|E F5}ojzt,

AADC = AAEC
OABCD = AABE = % X 8% 3 =12(cm?)




